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HET BHEEFR T
4 R " B % R BAL 54 B &
il T
GiRiE P t=5cm mAEHAS | m2 216 | srpEREES
wangie | P s | 106
y A N 281
EYNGES ﬁf%% I 3
N fﬁf%% " 59
FAHDBT EEAS
BN
FEHE| FERRW=15cm m 97




\:b A A =. _:.
HET BHEEFR Bl
4 Fr " H iR HAL = fE &
HEET
"\\\f :[:El § M+ tZBCm ﬁé%*ﬁAS
BERL G | ool RC_10 m2 349
T A t=20cm RC-40 m2 1, 590




> SNt EL | AA s
fdET BEFHEREE i
£ FR O 7 B = = 2¥iv2 &
t=3cm
TR {4
t=Hcm
A2 90.30 + 125. 40
=l m2 215.
t=3cm
HRE Al A i 4 81.70 + 24. 70 =l m2 106.
t=4cm
PN 106.00 +  146.50 +  28.00 =l m2 280.
BN AR 8. 40 = m2 8.
A%
B 31.00 + 28. 40 =l m2 59.
Fe AGhAE AR 8. 40 = m2 8.
PN
B 31.00 + 28. 40 =l m2 59.




ST HEHEE i

4 FR B 7 B = Hifr | &
t=3cm
BE o G S 349. 00
= m2 349. 0
t=25cm

T E A T 1,764.20 - 173.90 = m2 1590. 3




XE#RT BEHEE i
4 | B G B K HAL | &
O SMAIKR | F26N=15cm 87.2 + 9.6 m 96. 8




WEET HEEHRK

4 W & H X (VA B
Tz B T

) -MEEE L | MEAEE m3 9
Z N LB m3 14
THAERRCUE L t=15cm m2 398
AsiIEMAL 5y m3 14
SHAEYINT | As t=20cm m 368
Vi) 7K AL m3 0.6
A 2% G Gr-C-2E m 2
=N AT HE| GpCp2E m 10




WMEREET BHEEHK EE il

4 W = A % IR ¥ 17A ¥ B i &
Hu e B T

) - MR L | MR m3 8
" PR E m3 14
Bl AR L t=15cm m2 969
AsBOERAL Sy As HiH m3 46
HAEEIT T As t=20cm m 170
V) K AL B m3 0.3

RS I VU ¢ 250 m 10 | 9.76kg/m
s kg 98

MAREME ¢ 125 m 58 | 4.46kg/m

¢ 150 m 43 | 6. 70kg/m

¢ 200 m 25 | 10. 12kg/m
QL5 kg 800
A N A Gp—Cp—2E m 88




WERET LEHHESE S

4 W Bl K& s A 2V BT ¥ &
av) - MU U | A a))-MREE LEER LD 8.94 m3 8.9
BRAHHE a))-MREE LEER LD 13.71 m3 13.7

/¢ U

SRR | As HLHE t=bcm BIMKFI R LY m2 106. 4
As #RE t=4em BIKFIREEZ LY KM m2 17.1
As H2iE t=3cm BIKFIREIE LY RIS m2 82. 6
AS #3iE t=3cm BIKFIHREIE LY m2 191. 4
m2 397.5
Asfsy | As HE3E 106.4 X 0. 05 m3 5.32
As HxjH 17.1 X 0. 04 FK A m3 0. 68
As HxjH 82.6 X 0.03 e m3 2.48
As #HE 191.4 X 0. 03 m3 5.74
m3 14.2
ST AL BE m3 14.2
EEEEINT T | As £=20 BRI REE LY m 368. 2
VK AL B 0. 60 m3 0.6
B =N V- Gr-c-2E 2.00 m 2.0
7 =b 47 2| Gp—Cp—2E 2.00 + 6.00 + 2.00 m 10.0




U9 -MRRLEER

SR
EHEEYIIELHER m3
% F H=E W=
WH-+ T BEEQ 2.90
Skt A 2.00
FEhA B 1.31
LB g B B REQ Y9 —b 273
&t 8.94
BHEEYRIELHER m3
% F H=E W=
WH-rEBED 9.13
LB EEE 458
&t 13.71




1/ - R EEORUE L R
300
ARy -h
8 IvhY- M
3100 x 100061, 5m 1495
T A3 N
(]
L =
200 X 1495 35Kg
—
4 7/ <) s it = = VAR s i1
B Ut = 73.8 m  73.8
ERAE
aypy—p | AEav7Y)=b0.30X0.30X73.8 = 6. 642 m3
PEEL  exr  35/2500x2%73.8/1.5 - 1.378 m3
2/7)=Mt 0.10X0.10X1.00X73.8/1.5 = 1.107 m3
= 9.127 m3 9.13
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e
Tl
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i

3/t HRREQRUE L ek
200
i
S
—
—

Z R it " 2 Wir # &

M Ut R = 29.0 m  29.0
ayp)—p FEFAEE | 0.20X0.50X29.0 = 2.900 m3  2.90
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SR

K PEARUE L

H\ A BERE
AL :E: 150 {180 E:I;U 150/
Bo | 1000 50 i#l’—%-ll
G| —
- ik ‘ER 2 g gnmae f‘ 2
LBs i 6 |
‘ 1400 A aa: j: \ 5 200
L
B Hrmm
- 0 1000 _IEEI
- | N &y
E— e —
4 7/ <) s &t H = AT i1
B U gk = 1 f&pr 1
ay)=h
g L MEAHEYS 1.40X1.60X1.75—1.00X1.20X 1. 60 = 2.000 m3 2.00
7T V=Fv)7 #1100 X650 H 2




H ) APEBEUE |
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g
T
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SR

’T A BTE
_.ﬂ_‘ 1000 }_3[ '_E_I__E# ’__________12_["? _I FQ
— 2 ; = [
e
shims %:T ""T'q q° : g8 — g
TOANNNN A
I.____utlﬂ — J u ]
600 4 —Et
4 OB G ) E2V WAL & &
HudE UER 1. 40+0. 60 = 2.000 m 2.0
ayy)—h
R L HFHFEE  (0.20+0.55) /2X1.75X2.0 = 1.313 m3 1. 31




A A E._;‘ /“/\"
et E
1] {57 N
LR R B L T
B X D= (11111)) S£EWUR K2R LB A
B Br |12 |S2|Fi|F2| C | H (kg) a0 Es | KN/me)
H [R1 [R2 [ 1IR3 |R2[R3] ' | 2= =2[ |2 ' [tRiTR2 [ (R3 LR1[LR-2[LR-3
500| 700| 750| 950| 50|250| 80| 80| 50| 801100]100] — | 300| 410] 420] 470 22| 22| 21
600| 700! 800[1,000(100(300] 80| 80| 50| 80/100[100| — | 300| 450| 470 520| ¢55n=1 | 27| 26 24
700| 700| 850|1,050150/350| 80| 80| 50| 801100 100 — | 300| 480| 520| 570 (+>%-) | 33| 30| 28
800| 750 900/1,150/150/400| 80| 80| 50| 80,100[100] — | 400| 540| 570 630 37| 34| 31
900| 800| 950]1,200150400] 80| 80| 50| 80100100 — | 400| 590| 620] 680 42| 38| 34
1,000| 8501,000(1,250(150[400| 80| 80| 50| 80[100[100] — | 500| 640 680 740 46| 41| 38
1,100| 9501,050]1,350(100/400| 80|100| 60/100(120/120| 500| 550| 820 850 930 49| 46| 41
1,200(1,000(1,1001,800 (1001400 BO[100] 60100120120 500 550| 880[] 910| 990| ¢55n=2 | 54| 50| 45
SO T o0 T TS0 T 00 T SO 00 T 80T 20T TO T 20T 20 Tr20 5065507006 4 050(1,140| (@#4K) | 57| 52| 47
1,300 1,050 1,150 | 1,450 100|400 | 80[120| 70|120[120(120| 500| 550|1,0501,080 1,180 58] 54| 49
1,4001,100 [1,200 | 1,500 100 [400 | 80[120| 701120/120]120] 500 600|1,1201,150 1,250 63| 59| 53
1,5001.150 1,250 | 1,550 [100 [400 | 80[120| 70[120[120(120] 500 6001,190 (1,220 1,320 67| 63| 56
1,600 | 1,250 | 1,300 | 1,650 | 50 |400 100130100130 [150]150| 500] 6501,520]1,540 1,710 69| 67| 59
1,700|1,300 (1,350 1,700 50400 [100[140(100|140[150[150] 500 650]1,6601.680 1,850 74| 71| 63
1,750{1,3001,400[1,700(100 400100 140100140 150[150| 500| 650]1,690(1.740 11,880 oo o f 771 72] 66
1,800 1,350 (1,400 1,750 | 50400[100[150[100[150[150(150| 500 650]1,810(1,830[2,000 78| 76| 67
1,000 1,400 [ 1,450 1,800 | 50|400100[150/100150(150(150| 500| 700]1,900]1,9202,090 83| 80| 71
2.000]1,450 1,500 /1,850 | 50400100 150100150 (150150 500| 700[1,990(2,010(2,170 87| 84| 75
—3
4 O ¥ At A 2V AT #K =
H=1. 2m g LR R
= 26.0 m 26.0
L 7fERE | (880/2.0/2500) X 1 = 0.176 m3
FeptEayp)—-pb 1.05X0. 10X 1 = 0.105 m3
ay)) -
BugE L
MG 0.176X26.0 = 4.576 m3  4.58
HEAAESE | 0.105X26.0 = 2.730 m3 2.73




> ¥t B 2 A
BN T ¥R HE -
JE P
£ PR O 7 H = AT &
ESIRES
HIE A t=b5cm
i 82.0 + 24. 4 m2 106. 4
EICE S t=4cm
BEARE 8.5 + 4.6 + 3.6 + 0.4 m2 17.1
{5 i 2 t=3cm
81.7 + 0.9 m2 82.6
t=3cm
b 124.8 + 66. 6 m2 191.4
LiESeEIlh 104.0 + 105.8 + 6.1 + 9.0
91.2 + 28.6 + 4.2 + 19.3 m 368. 2
0/m
YR K ALER 368.20 X .70 / 1, 000 m3 0.6




WMEREL BEHEE

SEE

4 FR B A% at ) X BT B &=
/Y- L | M A ) NERE LR R LY 7.88 =| m3 7.9
PG /) -MREE L EER LY 13.99 =| m3 14.0
EEERIUE L As HiiE i t=5cm §  314.08 =[ m2 868. 3
As B t=3cm BIFGHEE LY =[ m2 100. 6
As A B t=5cm BIMEHEELY =[ m2 0.0
As BEEES t=bcm BUFKFREE LY =[ m2 0.0
et =[ m2 968. 9
AsfLsy | As HGHE 868.3 X 0.05 = m3 43. 42
As AHE 100.6 X 0.03 =[ ms3 3.02
As ’A - X 0.05 =| m3 0.00
As BEE - X 0.05 = m3 0.00
et =[ m3 46. 4
G T [As t=20 BIAEH R LY =[ m 170.3
K AL 0. 30 =| m3 0.3
REWFE IR Vu ¢ 250 9. 60 = m 9.6
RKERE| ¢125 58. 20 = m 58. 2
¢ 150 43. 00 =[ m 43.0
¢ 200 25. 40 = m 25. 4
1 =b N 47 532 Gp—Cp-2E 88.00 + —B5O-00- = m 88.0
S S — 1
Fo 53780 =——m 53. 8
# =05 500 860 = 6. 0
s 266 %7 2.0
W=040m 960 = T 9.6




WY -FEELBIER

LA
BHBEYIZELBESR m3
& FR e W=
7°bn7 IKERIERRAV YY) —F 4.00
1REa19) -+ 3.47
&k#t B 0.41
a&t 7.88
BHEEYMRIELBER m3
£ ¥R e wm =
PU2-250x250 1.96
PU2-300x500 7.33
TLNTKIBA 3.14
ANUFI)a—4 1.56
a&t 13.99




A= =S -
et HE
PU2HIITH U L EY il
A ol
d 50 a L |
f l
T= i T (e ,
e\ L = n 1
= i N bl 1 I
[ (‘/‘ f |
\(/J W, '__.,_______......._...._.___'
" ,/‘\_‘I—/ 3 1. (1
wif @
- SE£8
B = | U4 Sl Kl
A H a b d d' e i h t i r L=1000 | L=2000
250 4501395250230 250 40 | 55 | 55 | 55 20 90| 120 | 50 | 1000 | 2000 145| 289
300A | 500 |455|300|280|300| 40 | 55| 60 | 60 | 20 951120 | 50 | 1000|2000 173 | 347
300B | 500 |560|300|270|400| 40 | 55 | 65 | 65 | 20 951120 | 50 | 1000|2000 209 | 419
1 & 300C | 500 | 665|300|260|500| 40 | 55| 70 | 70 | 20 951120 | 50 | 1000|2000 248| 495
(PU2EY) 400A | 600 | 575|400 |370|400| 40 | 55 | 65 | 65 | 20 | 110|135 | 50 | 1000|2000 | 228 | 456
1% (mm) £
& = BUE 5’?‘;‘5’
b t t tz L
250 362 50 90 55 35 500 | 29
1 & 300 412 51 95 55 40 500 | 33
(PC32Y) 400 512 51 110 65 45 500 A7
500 622 56 125 75 50 500 65 .
— —— — — — Q:Et
4 77N T R S &t " = WA 0 &
250 B UER 242 24.2 m 24. 2
1))} 250 (145/2500) X 1 = 0.058 m3
BUEL gyt (29/2500) X2X 1 - 0.023 m3
0.081 m3 0. 081
0.081X24.2 = 1.960 m3 1.96
300C BE LIt E 58.2 m 58. 2
1))} 300C (248/2500) X 1 = 0.099 m3
BUEL gyt (33/2500) X2X 1 - 0.026 m3
0.126 m3 0.126
0.126X58. 2 = 7.333 m3 7.33




NI = =Y =
WEFAE
7 U7 KA RUE L AR
| B E_ C 400 X 400/  30Kg
I
'
G| M , <
H RES C D J (m)
*|*\—[i 400 x 400 0.10 0.10 062
[ 1 =of L[]
| J |
| L | t
| | In
..... 200X 1495  35Kg
T ERIETR I MH %
4 7/ <) s &t H = X VAR s &
B Ut = 69.3 m 69. 3
(L F1om¥4 v)
ayp)=h | 400X400  30/2500X15.0/1.5%10.0/15.0 = 0.080 m3
BEEL  SfpfEds  35/2500X2X2X15.0/1.5X10.0/15. 0 = 0.373 m3
= 0. 453 m3 0. 453
0. 453/10. 0X69. 3 = 3.139 m3 3.14
MRS 1.395X0.62X0.10X15.0/1.5X10.0/15.0 = 0.577| m3
0.577/10. 0X69. 3 = 3.999 m3 4, 00
400
{REEIYY)-}
A=0. 05m2
) \ j f\n’y
ARIT-L
PR MRS 0.05X69.3 = 3. 465 m3 3. 47
ay)=h




BRI s L EE
" 2000 .
Ll
e
=
asl.
k—Cs___
(CHERR) a4 MBI/ CF MEREEDET .
+ % # #H(mm) sEER
REFS . : (kg)
Alun|B|lclo|olelFr | PR D |cs|Hs|s] Lo g
200 200 | 200 | 170 | 190 50 25 35 25 15 40 70 255 | 276 50 60 114
250 250 | 250 | 200 | 220 50 25 35 25 15 40 70 285 | 326 50 60 140
300 300 | 300 | 250 | 270 50 25 40 25 15 50 70 345 | 381 50 60 180‘
350 350 | 350 | 300 | 330 70 35 45 35 15 50 85 405 | 446 60 70 254
400 400 | 400 | 350 | 380 70 35 50 35 15 50 85 465 | 496 60 70 313_
450 450 | 450 | 400 | 430 80 40 55 40 ! 15 70 95 525 | 556 60 70 379
500/400 | 500 | 400 | 450 | 480 80 40 55 40 15 70 95 575 | 506 60 70 378
500 500 | 500 | 450 | 480 80 40 55 40 15 70 95 575 606 60 70 415
600/400 | 6800 | 400 | 500 | 540 70 35 60 45 15 | 70 95 630 | 516 70 80 435 )
600 600 | 600 | 540 | 560 80 40 i 60 45 15 | 70 95 665 } 716 70 80 529
—3
4 PR s #t A =Y AL H =
B UIE R
27.8+40. 0 = 67.8 m 67.8
T} BF-200 (114/2/2500) X 1 = 0.023 m3
gL SRAGRETE | 0.023X67. 80 = 1.559 m3 1.56




et A E
K IBEUE L k)
800
150 500 150 800
150 500 . _]50
| ]
2
S F -
o
L‘Cg (=]
(=] = o (e}
i 1 B 2
I ’
2 N =
I by
600x600x50
—
4 77 <) ¥ & 52 AT iy
HudE U &Pk = 1 T 1
ay) Y=}
g L MEFHEYS 0. 80X 0.80X0.95—0.50X0.50X0. 80 = 0.408 m3 0.41

VAR VA=

B600




N ¥ B =
SERRBET ) E I EE ARE ]
£ B R g " = HANT o=
EER RS
HE S t=bcm
TiiE 573.7 + 294. 6 m2 868. 3
M3 A t=3cm
i —624— + 100. 6 m2 100. 6
BN t=bcm
TiiE — 49— m2 0.0
BEHii5 AL t=5cm
950 m2 0.0
LI T | As t=20 105.40 + —5—+16— + —6-06- + —4FF0
+ 61.00 + 3.90 m 170. 3
0/m
VB K LER 170.30 X .70 / 1,000 m3 0.3




(=] ° EEER U
44 &
PR Hi & B fr - 1
&R L | By KAl L
Ll m3 100 550
IR mJ3 - -
R m3 1130 -
BEAARRE T m3 910 -
T R wEAT] m2 - -
O] tyEm 79 -
T m2
FEhHEE m2 - 567
T R N—F U Tk m2 5080 -
e+ m3 - 464 |3 Rk T
AN e m3 1890 -
M ERY L
R ¢ 300 m 49 _
.
fib
Hh (aR=lEr m 8 -




\%: ~, ° 'J-’E]J M2z E‘(/t:
% i
4 PR i) & B {7 - s =
& Ak L F (B oK il T
R 7K By il CW-N 4EF& m3 - 366 x TR 25
s
R T AR AT t=4mm| 2 - 991
N
R — TR AT t=4mm| o - 550
HEAR T —h t=1.5mm m2 - 550
FfE=a7)—k | t=10cm 18-8-25 m3 - 44
}:IF!M m2 - 7
S t=10cm RC-40 m2 - 451
fiey NI ATI 73—k
% U Rl AR 7 A (11000 X H1500 m - 31
X
€L WU B = - Bl e T aeey
e VP ¢ 250 m - 13




+ T B £ i =X R
4 & H iR N BAT & w &
+ T Il m3 98
7N m3 0
IR+ m3 1,126
N m3 910
2w r] m2
Gtk m2 79
R m3 - s T
THEUR N—F U Tk m2 5,076
% RJEH300 m3 1,523
I LA m 3 1, 894




+ T % & CIEd B
4 & H i BLAL e w &
+ T Il m3 551

7N m3 0

IR+ m3 0

FEARRE m3 0

R m3 78

F R IE m2 567

%o m 3 464
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ELHYS

Teb il
RE = 0 X 0.9 o mOR
684 g 0
98+586
BEES
R & B 1,251 X 0.9 o PRS-
2262 g 1126
684+1894/1. 2
PRE R A
1,011 X 0.9 - AR
TRT ! 910
1894

Vo Ly

V23 +

47
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586

Bk Al

Vo Ly
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551-87=464
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87 " 78
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551 551

b2 3wy Uiy
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=g = NS
+ 2 H & ik
& Rk % -
PR 5 [
HI A5 JEREHA % =B A—B T
D No. 1 11.945 11.68 0. 265
A No. 1 12.215 11.69 0. 525
A No. 2 12. 200 11.69 0.510
A No. 3 12. 206 11.70 0. 506
C No. 1 11.98 11.68 0.300|% /5
C No.?2 11.91 11.65 0. 260[ »
C No. 3 11.87 11.65 0. 220[ »
Sh 2&%6qﬁ@hzg§$’
Y& R I AEA = 2459, 54m2 2459. 54 X 0. 37 910 AR+
W7 77
I A5 EFEIEA % =B A—B T B2
A No. 4 12. 260 11.56 0. 700
A No.5 12. 265 11.61 0. 655
B No. 1 12. 225 11.58 0. 645
B No. 2 12.214 11.58 0. 634
B No. 3 12.153 11. 49 0. 663
C No.4 11.830 11.52 0.310% 5
C No.5 11. 880 11.51 0.370[ »
C No.6 11.930 11.53 0. 400[ »
Sh 43ﬁiﬁﬁhzggg
Y& R I AEA = 2048, 04m2 2048. 04 X 0. 55 1126 R
RE &t
Mok RS 2459. 54+32. 62 = 2492. 16
W'y F77
MR B RS 2408. 04+176. 11 = 2584. 15
&t 5076. 31
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250 1505 50 AR
750 35 , o
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VP o2 ) YR A=4.3m2 4
2 0 mie 8 B A=2.3m2
=
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i
"

CI | S R i A E2V HiL % &

ARG LY

TEHI PR T 433 A FE475. 0X0. 90 = 427.50 m3 427.5

By s T A (3. 5X29. 325) +43E6 (0. 5 X 2. 400) = 103.84 m3 103.8

)7 ¢k = R (4. 3 X 2. 005) +ah (1. 1X 2. 690) = 11.58 m3 11.6

ot ERRE - T)0. 7X0.9X12.5 = 7.88 m3 7.9

= 550.79 m3 550. 8

MR RPEEAliRE LT (475, 0-441. 0) X 0. 90 = 30.60 m3 30.6

K yrxgkE T AIE (1. 4 X 29. 325) +3mER (0. 5 X 2. 40) = 42.26 m3 42.3

)7k AT (2. 3X 2. 005) DA = 4.61 m3 4.6

= 77.47 m3 77.5

FFEIE 475+45. 7 = 520. 70| m2 520. 7
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iy PEETVST 46.3+2.5 = 48.80 m  48.8
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